Chapter 13 Practice

7. By referring to the figure , determine the mass of each of the following salts required to form a saturated solution in 350 
 INCLUDEPICTURE "http://session.masteringchemistry.com/render?units=g" \* MERGEFORMATINET 


 of water at 30 : [image: image2.png]KClOg



, [image: image3.png]Pb(NO3),



, [image: image4.png]Cex(SO4)s




[image: image5.jpg]Solubility (g of salt in 100 g H,0)
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10. Calculate the mass percentage of [image: image6.png]Na;S04



in a solution containing 10.8 [image: image7.png]


 [image: image8.png]Na;S04



in 481 [image: image9.png]


 water. 

13. An ore contains 2.88 [image: image10.png]


 of silver per ton of ore. What is the concentration of silver in ppm? 

14. A solution is made containing 14.5 [image: image11.png]


 of [image: image12.png]CH;OH



in 183 [image: image13.png]


 [image: image14.png]H20



.

A. Calculate the mole fraction of [image: image15.png]CH;OH



. 

B. Calculate the mass percent of [image: image16.png]CH;OH



. 

C. Calculate the molality of [image: image17.png]CH;OH



. 

18. What is the molarity of 0.560 [image: image18.png]


 [image: image19.png]Mg(NOs),



in 250.0 [image: image20.png]


of solution? 22.3 [image: image21.png]


 [image: image22.png]LiClO, - 3H,0



in 125 [image: image23.png]


of solution?

22. A sulfuric acid solution containing 571.5 [image: image24.png]


 of [image: image25.png]H280,4



per liter of solution has a density of 1.329 [image: image26.png]


.

A. Calculate the mass percentage of [image: image27.png]H280,4



in this solution. 

B. Calculate the mole fraction of [image: image28.png]H280,4



in this solution. 

C. Calculate the molality of [image: image29.png]H280,4



in this solution. 

D. Calculate the molarity of [image: image30.png]H280,4



in this solution. 

31. The density of acetonitrile [image: image31.png](CHsCN)



is 0.786 [image: image32.png]g/mL



, and the density of methanol [image: image33.png](CH3OH)



is 0.791 [image: image34.png]g/mL



. A solution is made by dissolving 21.0 [image: image35.png]


 [image: image36.png]CH;OH



in 98.5 [image: image37.png]


 [image: image38.png]CH;CN



.

A. What is the mole fraction of methanol in the solution? 

B. What is the molality of the solution? Assuming [image: image39.png]CHsOH



is the solute and [image: image40.png]CHsCN



is the solvent. 

C. Assuming that the volumes are additive, what is the molarity of [image: image41.png]CH;OH



in the solution? 

39. Calculate the number of moles of solute present in each of the following aqueous solutions

A. 700 [image: image42.png]


 of 0.250 [image: image43.png]


 [image: image44.png]SrBry




B.  86.6 [image: image45.png]


 of 0.180 [image: image46.png]


 [image: image47.png]KCl



, 

      C.  122.0 [image: image48.png]


 of a solution that is 6.25% glucose [image: image49.png](CeH120)



by mass. 

44. Calculate the vapor pressure of water above a solution prepared by adding 23.0 [image: image50.png]


 of lactose [image: image51.png](C12Hz2011)



to 200.0 [image: image52.png]


of water at 338 [image: image53.png]


. (Vapor-pressure of water at 338 [image: image54.png]


187.5 [image: image55.png]torr



.) 

61. Calculate the freezing and boiling points of each of the following solutions:

A. freezing point of 0.25 [image: image56.png]


 glycerol [image: image57.png](CsHyO3)



in ethanol

B. boiling point of 0.25 [image: image58.png]


 glycerol [image: image59.png](CsHyO3)



in ethanol

C. freezing point of 0.240 [image: image60.png]mol



 of naphthalene [image: image61.png](CioHs)



in 2.65 [image: image62.png]mol



 of chloroform

